6 | THIS DOCUMEP’T SHOULD,BE DISCAF1DED IF FOYND DETACI—(ED FROMA WORK OFDER |
750mm(29-1/2 il:l..}2 POSITION
y : FOR UNDERGROUND SERVICE ONLY
RATING: 400 AMP MAIN
0 240V MAX. 200 AMP PER
.\ /® POSITION.
\ — BREAKER NOT INCLUDED
/®@ NOTE: FOR ABB BREAKERS RATED
RATED 100-200AMPS MAXIMUM
ABB TYPE TQD OR THQD
36.
alﬁ’gﬂ NOTE: LINE SIDE COVER
a INTERNAL LATCH REQUIRES
N REMOVAL OF FIRST METER
—— COVER TO REMOVE LINE
] ]
| 2
® |
. 159mm |
8.25in. -
- i TRADE SIZE
KNOCKOUT
75 2 s!azin @ " ;1:7:‘:“1 e
J_g ‘_@"{ 56mm
o808 | Lo\ 5im 1125010 5010
iim 286mm \ 25 oam
TRADE SIZE KNOCKOUT SIZE KNOCKO
2, 2-1/2, 8, 3-1/2 INCH 1- 1/E. -1/2, 2, 2“22 INCH
QTY4 2 'pod. QTY.6 3P0S. QTY.B 4POS.
UNLESS OTHERWISE SPECIFIED CAD MAINTAINED DATA
ALL DIMENSIONS SHOWN APPLY AFTER CHANGES SHALL BE INCORPORATED E Hydel
PLATINGS AND COATINGS ELECTRONICALLY
TOLERANCES APPLY AS SHOWN BELOW PROPRIETARY o division of Circo Enterprises Inc
DECIHAL PLACES [ TNCHES T WILLIRETRES] NOT, 10 BE DISCLOSED DR REPRONUCED IN aNY rire: 4004 MAIN-200A/POS
R L m i ANNER WITHOUT THE EXPRESS WRITTEN MULTI-GANG COMB.METER
A i : e PERMISSION OF HYDEL A |Nov oo/22 HS | CSA 115-20 CHANGES SOCI{ET/BREAKER
- ANGULAR nmmsmuiw THIRD ANGLE PROJECTION REV| DATE  |REV BY CHANGE PERT MO, JAL42RX—COGE REA\;,
¥ - 01" @ g DRAWN BY PIS N 20/20 g SHEET
STRTAE mmg3 CH]| HTT.'F\’EIN_L6 PPROVED BY SAS JAL42RXCOGE i oF 3
6 5 | 4 | 3 > 1




THIS DOCUMENT SHOULD BE DISCARIED IF FOUND DETACHED FROM A WORK ORDER

305mm

12.0!‘.lh:l

®\

@5 csa RATING
& CAT.NO. —
LABEL

35392914039

1

LINE: DUAL RATED CONNECTOR, ONE 600MCM-1/0 OR TWO 250MCM-1/0 CU/AL
LOAD: SINGLE 250MCM-6 CU/AL

NEUTRAL - INSULATED, CONNECTED TO ENCLOSURE WITH #4CU GREEN WIRE
(WHERE ELECTRICAL AUTHORITIES REQUIRE THE NEUTRAL ASSEMBLY TO BE

929

)

CSA RATING

& CAT.NO.

LABEL
/

—

DISCONNECTED FROM THE ENCLOSURE — REMOVE WIRE)
UNLESS OTHERWISE SPECIFIED CAD MAINTAINED DATA
ALL DIMENSIONS SHOWN APPLY AFTER CHANGES SHALL BE INCORPORATED E Hyde’
PLATINGS AND COATINGS ELECTRONICALLY
LA | Alicigusw BI"E'IILIFL\:HETRES PROPRICTRRY 400A MAIN=2604/F
DECIMAL PLACES
i som [ o | ik G SRR A 15 MULTI-GANG COMB.METER
X £ 020 £ 05 ERMISSION OF HYDEL A |Nov 09/22| HS | CSA 115-20 CHANGES SOCKET /BREAKER
- ANGULAR HIMENSIDNiuS. THIRD ANGLE PROJECTION REV|  DATE [REV BY CHANGE PART N, JAL42RX~COGE REV,
SE;.FXQCE : Htu.r - @ E} DRAWN BY PIS IN 20/20 5 SI—?EET
RODGHNESS I:g : I IEE,EH APPROVED BY SAS JAL42RXCOGE 2 OF 3|
1

A






6 THIS DOCUMENT SI-(OULD BE BISCARDED |IF FOUND OETACHED FIQOIVI A WORK ORDER 1
: [EB4pART No. DESCRIPTION an/T24pART No. DESCRIPTION .
1 |ZMS669BA32 Box Assembly 2 Pos. & 1138 | YMS675L10 Rain Channel | 2|
2 39 | XLUG0031 Lug 1/0-14 Double 1
3 40 | XWIRE0024 VWire #4 Green Copper 3-1/2 in, L 3ft)
4 41 | YMS600L7 LABEL PERMANENTLY BONDED NEUTRAL ASSEMBLY 1
—-2 42 | YMSB00LS LABEL- MOVE LATCH UPWARDS Al 4
43
7 44
8
9 | ZMS670CA16 Cover Assembly — Line % 1
F [10]zZMs670CA13 Cover Assembly — Meter 2
11 |ZMS670CASSY14 |Cover Assembly — Breaker Az
12 | XMS664 Meter Ring Assembly Al2
13 | XMS46FD Filler Disc. 2
14 | ZMS687A4 Bridge Assembly Meter JAL42R A1
—115 | YMS418BR6 Bridge For Breaker 2
16 | XMS600L5 Label ABB Breaker Type Al 2]
17 [XMS122GL Ground Lug 2
18 [ZMS291NA40 Neutral Bar Assembly — Load 2
19 | ZMS291NA41 Neutral Bar Assembly — Main 1
D [20
21
22 | XMS8A Jaw Shroud 4
23
24 [ XMS600L3 Label — remove bonding wire 1
— |25 |JAL42RX-COGE |Label — CSA rating label (sim to MS29A36)| 2
26 | XSCRO07 Screw 10-32 x 1/4 TYPE C 13
27 | XSCR003 Screw 10-32 x 1/2 TYPE C 10
28 | XSCR045 Screw 10-32 x 7/8 TYPE C 2
29 | XSCR021 Screw 1/4-20 x 1/2 TYPE MS 1
C 30
31
32 | XFW0010 Washer Flat #10 0.44 OD. 0.218 ID 0.040T 8
33 | XLW0011 Lockwasher #10 2
34 | XFW0002 Washer Flat 1/4” 3
35 | XLW0002 Lockwasher 1/4” 3
36 | XNUTO0011 Hex Nut 1/4-20 2
37 | XSCR168 Screw 8-32 x 2-3/4 MS 4
B
UNLESS OTHERWISE SPECIFIED CAD MAINTAINED DATA
ALL DIMENSIONS SHOWN APPLY AFTER CHANGES SHALL BE INCORPORATED E Hydel
PLATINGS AND COATINGS ELECTRONICALLY
R APP A o division of Circo Enterprises Inc
— ECOL PLAGES | RS [HITRETRES| o o0 o o oo ., ¥00A MAIN-200A/POS |
AR am H MANNER WITHIUL THE EXPRESS WRITTEN MULTI-GANG COMB.METER
X + 020 £05 A |Nov 09/22| HS | CSA 115-20 CHANGES SOCKET/BREAKER
- ANGULAR mMENsmNiUS: THIRD ANGLE PROJECTION REV| DATE  |REV BY CHANGE PART  NO. JALA2RX~-COGE REV'
A SE:?#CE HICREIINCHﬂlll MICRON ‘@ E DRAVN BY ki AN 20/20 IGG NG 2 0 SHEET
ROUGHNESS 63 | 16 APPROVED BY SAS JAL42RXCOGE 3 OF 3
1







